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SRk 244 25,642 13,918 54.3 43.5 6,959 6,730 88.3
254E 25,266 12,864 50.9 38.8 6,432 5,390 83.8
264 24,859 12,758 51.3 38.0 6,379 6,660 104.4
2THEE 24,462 12,503 51.1 37.2 6,252 4,640 74.1
284 24,065 11,894 49.4 36.5 5,947 5,160 86.8

294E 23,719 8,595 35.5 34.6 4,298 1,650 38.4
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3 4,368 2 2,144 77 47,739 34 14,092 116 68,343
R TR BREERR
98-5. NEEEZ A (AT )
EE s | RAIEYR | KB G | BRE IRH) B Z D
SRR 244F 6 1 2 - - 3
254FJE 7 4 2 — - 1
264FJE 7 1 4 — - 2
QTR JE 9 3 2 - 2 2
284FEJE 7 5 1 1

,53,

HBE R I IR ER BT BOR R

FH B 1 B R AR B




